
61 1 [P.T.O. 

 
 
 

 

Roll No. 

  

 

SHERPA 

Time allowed : 3 hours Maximum Marks : 80 

 
All the questions are compulsory : 

 

 
 Please check that this question paper contains 5 printed pages. 

 Code number given on the right hand side of the question paper should be written on the 

title page of the answer-book by the candidate. 

 Please check that this question paper contains 13 questions. 

 Please write down the Serial Number of the question before attempting it. 

 15 minutes time has been allotted to read this question paper. The question paper will be 

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 

question paper only and will not write any answer on the answer-book during this period. 
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1.  

 

  

  6 × 2 = 12 

 (a)  

 (b)  

 (c)  

 (d)  

 (e)  

   

 (f)  
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  3 × 1 = 3 

 (a)  

 (b)  

 (c) 
 

 

 

2. 
 

12 

 (a)  

 (b)  

 (c) 
 

 

3.  8 

 (a)  

 (b) 
 

 

4.  5 

(Translate into Sherpa Language)  

The Fox and the Stork 

  A cleaver fox and a stork were fast friends. One day the fox thought of playing a 

joke on the stork. He invited the stork to dinner. When the stork came to dinner, the fox 

set out some soup in a flat dish for it. The poor stork made attempts to taste the soup but 

it could eat nothing with his long beak. The fox lapped up the soup in one go. The stork 

returned to home hungry. 

  Next day the stork invited the fox to have a dinner. The stork served fine piece of 

meat in a tall jug with a narrow neck. The fox made attempts to taste a piece of meat but 

couldn't. It just looked outside of the jug as the stork ate the pieces of meat with 

pleasure. The fox had to go hungry that evening. 
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5.  5 × 2 = 10 

 (a)  

 (b)  

 (c)  

 (d)  

 (e)  

   

 

6.  2 

 (a)  

 (b) 
 

 

7.  3 

  

 

 

8.  3 × 2 = 6 

 (a)  

 (b)  

 (c)  

 (d) 
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9.  5 × 1 = 5 

 (a)  

 (b)  

 (c)  

 (d)  

 (e) 
 

 

 

10.  1 × 4 = 4 

  

 

11.  4 

   

 

12.  2 × 1 = 2 

 (a)  

 (b) 
 

 

13.  4 × 1 = 4 

 (a)  

 (b)  

 (c)  

 (d) 
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